Potencias de 10 (A)

3,132 +100

8,906 = 100

5,633 +100

7,047 = 100

6,665 < 100

5,349 +100

7,019 =100

9,55= 100

1,803 = 100

3,228 =100

Calcule los siguientes cocientes.

9,945 =100

5,896+ 100

2,905 -+100

9,385+ 100

1,864 = 100

0,912 =100

6,597 + 100

8,815= 100

5,624 +-100

1,407 = 100
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Potencias de 10 (A) Respuestas

3,132+ 100
0,03132
8,906 -+ 100
0,08906
5,633+ 100
0,05633
7,047 + 100
0,07047
6,665 -+ 100
0,06665
5,349 = 100
0,05349
7,019 + 100
0,07019
9,55+ 100
0,0955
1,803 = 100
0,01803
3,228+ 100
0,03228

Calcule los siguientes cocientes.

9,945+ 100
0,09945
5,896 = 100
0,05896
2,905+ 100
0,02905
9,385+ 100
0,09385
1,864 =100
0,01864
0,912+ 100
0,00912
6,597 = 100
0,06597
8,815+ 100
0,08815
5,624+ 100
0,05624
1,407 = 100
0,01407
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